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Part I o o
Answer briefly any Six parts from the followings,  6x2=12 .y}, Flin Lizmge et bits 220
If C={3 -3 6] then find ;-c - .U;J}'P‘% Cinc=3-3 617 @
Simplify it /144 20,0 V144 p ’“" oa JIA 6D
o b
Simplify it t%jl LESET LA i)
Express itasa Single logarithm .g.‘”’ J_PQ?E KAy Giv)
logx - 2logx +3log(x+1) - log(x* =1 logx - 2logx+3log(x +1) - log(x’ —1)
Find the value of x -logx = 0.0044 logx=0.0044 . /. il )
- 1 o 2 »
Factorize it 8 - W - L;f (vii) Simplify it I.qu'i; 4 L{):A- (vi)
State Remainder Theorem. - ey 7§31 .2~ i) Factorizeit ~ 4x* —(2)% —2°)*  _yJyF (i)
Answer briefly any Six parts from the followings, hx2=12 .{_{fzjwtli/ﬁﬁlmg:.‘jfr_utdlbﬂ J/r;LJFr

Find the H.C F by factorization X’ +5x+6 , x’ —4x—12 X +5x+6, x° —4x—12_ 6 F i
Solve forx | 2x+ 5| =11 12x+5|=11-&FL L x G
Solve the equation. v3x+4 =2 VIx+4 =225 Plema  Gii)
What 18 meant by ordered pair. Give ar: example. -Tfrn,ll.‘?"-’laﬂ recirsz (iv)

Plot on the graph paper P(-3 , 2.

-%r.‘ bSP(-3 : 2)4&?..5'; )

Find the distancs between the pair of points A(9,2) , B(7,2) A9,2) , B(7,2) -e_g{f;:"“.l»-ii.:)k.u‘f.uﬂﬁgﬁbﬁ i)
Find the mid point between pair of points. (5. ~12) , (-6, 8) (5,-12), (-6,8) -&?J”ﬁ;}?nb’w}?ﬁblﬁ Cvii)
Deseribe §.8.8 postulate. -.d’:' ug;.;,-'ru u" u {viii)

Fimd the unknown 0", m® in the given ﬂgm [/ ; - a8 4 P o
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If A LMQ and A LNO are congruent triangles nk i R LJmJ.?B' J&G:‘ A LNO o A LM /r'l
then find vahue of x and m K ..?,".:rf”a.‘"!;fm A x
’ % o 12 N -
12em, 13cm and Som are length of sides a riangle o TL&’QJJ&ML;;F..QScm s 13em , 12em
verify and give reason. -.‘c_.tz,_—-,;sra;'{_-f,r
Define proporiion. = d. -
State the converse of Pythagoras theorm. ~ . -éﬁﬁJJﬁ‘&é}f&’P
Verify these are length ofsides s right angled triangle. AU L ottt
écm , Rem , 10cm ' - 6em , $em, 10em
Define altitude of a parallelogram. -, 10 Cwai 7ot Ly
Find the area of figure.grr o _ Bem ..:{_f(;_t" JxF
= 1 ,
Deline centroid of a triangle. _.é'g.,é f'iur U pl sl
Construct a triangle ABC if mAB =5cm , mBC =4om and mCA = 6em Al ARCAL:
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Part H rn

v .A&;war briefly any Six parts from the followings. 6xi=;2-- . .L{f 2f 42 A :.':lzf.g';..ljf:.utdj&,u AA Ny

0]

(ii}
(iii)

_ (iv)
()
(vid
(Cvii}

(i)
{ix)

Note: Attermpt any Three Questions.Q.9 is compulsory — (8x3=26) < $I9AUrasf s/ il atirek edfied

dx+2y=8 “ i gy
5.2 Solve the system of equations by using Crammer's Rulk. s yy_ o E S Ly ,{:f_./,fu,u,L,-gF U2
{2 m N [ an - {4 Zm in
| a a a a a a i
b. Simplify I b mtn et | “bem .-+n] ] } "éf;
4 a a a g “\, d a a
6.0. Uselog table to find fhe vajue of ¥/2.709 x¥1.239 270951230 i ete suf e F 42
b. Il x+y=6and xy =9,then find the value of X' +y3 -érfs"‘b‘zfxs +y Inxy=9 -"*J’=6ﬁ
7.2 Factorize 1+2ab-—a* -b* 1+2ab-a° ‘B /67
b. Find thavalue ol # " and “m” for which the following ,.Lﬁ,fi.-f—:.-ﬂfa—;ﬂ;{' fr"’j”-‘bgi.;u!f‘-i’“m" a"E"
expression will become a perfect square. St rad 16 Hixtm ik u"-&/.,’;
x' 44 +16x" +Ex+m
r -
82 golvethe squation x| I- =g = ]—61’ x l—l i 2[.1‘— 3 -&x - .f,’Jh’.i.-zJF’.:phL‘
1 L 3) 3 3 '

b, Construct the A ABC. draw the hisectors of angles J_,:,"{._i-'i:;.‘/_,_)gsf; Ly J:IhﬁABC.‘.-f‘
and verify their concurrency. mAB =4.5cm mBC =3.lem mCA=5.2cm S B BAL ot

9. Prove thatany point on the bisector of an angle is equidistant .=.ui-;g.£m Aiw [ i ﬁ{_...vtrﬁ Ve :ﬂ,{f b
from its ams, ——w—- OR e O i A I e

Prave that Triangles on the same base and of the same w;lr'.:ulnl' u‘xﬂil;.;aﬁﬁﬁ_{lﬁf? L,d..ru:.fr wt

(i.e, equal) altitades are equal in ares.
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